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PART — A: Answer any ALL Q‘uestions, Each Question Carries 10 Marks (5%10=50 Marks)

1. Imagine that you are working for a banking system, and your job is to make i’f e_asier to anal?/se
transaction codes. Each transaction code is a six-digit number, where every digit holds specitic

information about the transaction. To simplify the process, you need a way to b'reak down these
codes, understand their details, and perform basic calculations. Write a program in C that reads a
six-digit transaction code from the user, separates it into individual digits, then calculates the sum

and product of those digits, and finally displays the results. (
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A software company 1s developing a modular student management system in C. One requirement is
to compute a student’s final result based on multiple assignments, each having different weightage.
However, the number of assignments are not fixed. Calculating the final result requires breaking the
task into multiple functions:
e One function to take the number of assignments, marks of assignments and weightage of
assignments from the user. B
One function to calculate the weighted average for 100 marks.
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